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Algebra 1 - Clark Name___________________________________

  Period____Date________________
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Writing Equations - Two Points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (0, −2) and (3, 0) 2)  through: (0, −3) and (−5, 4)

3)  through: (2, −5) and (0, 1) 4)  through: (−2, 3) and (0, 2)

5)  through: (0, 1) and (4, −1) 6)  through: (−3, 3) and (0, −1)

7)  through: (0, −1) and (−2, −2) 8)  through: (1, −5) and (−2, 2)

-1-



©S z2h001F1e AKUustCa0 3SkoyfftrwNarrze9 bLLLrC6.A F ZA8lOlb QrZiogdhXt9sD irYeCsJeErCviecdE.r o MMkaFdRea Ew6iqt1ha eI AndfAivnvipt1e7 AAClxgAe9bqr6ah K1m.y Worksheet by Kuta Software LLC

9)  through: (−3, 5) and (0, −4) 10)  through: (5, 3) and (−1, 5)

11)  through: (−3, −4) and (4, 3) 12)  through: (−4, 2) and (1, −5)

13)  through: (2, 3) and (−3, 0) 14)  through: (0, −3) and (−3, 3)

15)  through: (1, −5) and (3, −4) 16)  through: (−4, 4) and (4, 5)
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Writing Equations - Two Points

Write the slope-intercept form of the equation of the line through the given points.

1)  through: (0, −2) and (3, 0)
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2)  through: (0, −3) and (−5, 4)
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3)  through: (2, −5) and (0, 1)
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4)  through: (−2, 3) and (0, 2)

  

y

 

 = 

   

−
1
2

  

x

 

 + 2

5)  through: (0, 1) and (4, −1)
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6)  through: (−3, 3) and (0, −1)
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7)  through: (0, −1) and (−2, −2)
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8)  through: (1, −5) and (−2, 2)
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9)  through: (−3, 5) and (0, −4)

  

y

 

 = 

  

−3

  

x

 

 − 4

10)  through: (5, 3) and (−1, 5)
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11)  through: (−3, −4) and (4, 3)
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12)  through: (−4, 2) and (1, −5)
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13)  through: (2, 3) and (−3, 0)
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14)  through: (0, −3) and (−3, 3)
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15)  through: (1, −5) and (3, −4)
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16)  through: (−4, 4) and (4, 5)

  

y

 

 = 

   

1
8

  

x

 

 + 

 

9
2

-2-


